
Center #1. - Make a stem-and-leaf plot of the data. Then find the mean, median, mode, range, and lQR.
Round to the nearest tenth if necessary.

Mean:

Median:

Mode:

Range:

IQR:

Center #3 - Make a box and whisker plot for the data.
Ages of volunteers at a hospital
t4, L7,20, L6, L7, t4,2L, t8

Masses (in kilograms) of lions
72O, 2OO, 180, 150, 20O, 2OO, 23O, t6O



Cg$g.f *.1: Describe llg',qf,.pe of each distribution.

center #5 - choose the most appropriate measure to describe the center and the variation.Then find the measures you chose.
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Center #5 - Make a box and whisker plot
New York -7O,74,92,19, g5, 6g, g2,64,

comparing the temperatures in New york and Miami.
76 Miami  -94,97,92,g0,g4,7g,g1,74,g6



Center #1 -  Make a stem-and-leaf plot  of  the data. Then f ind the mean, median, mode, range, and lQR.

Round to the nearest tenth if necessary.
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Center #2 - Display the data in a histogram.
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Center #3 - Make a box and whisker plot for the data.
Ages of volunteers at a hospital
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Center #4 - Describe the shape of each distr ibution.
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center #5 - choose the most appropriate measure to describe the center and the variat ion.
Then f ind the measures vou chose. a
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center #6 - Make a box and whisker plot comparing the temperatures in New york and Miami.
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